
M8 =  24 NmM =  96 ,8  Nm

40.3494

40.3494

40.3494

40.3494

Наименование КомплектацияЗащита

Осн.часть

Основные комплектующие на защиты

40.3494 8 х Винт М6х16

23 х Винт М8х20

8 х Шайба 6 DIN 125A
12 х Шайба 6Г
10 х Шайба 8 DIN 125A
20 х Шайба 8Г

27 х НД 28000

4 х Винт М6х25

www.stormprotect.ruwww.stormprotect.ru

1)2 х Кронштейн

10 х Гайка М8

3 х Винт М8х25

TGB BLADE 1000 TGB BLADE 1000 

4 х Винт М8х50

4 х Шайба 6 DIN 9021
7 х Шайба 7 DIN 9021

2

2

2)2 х Кронштейн

3

3

3)2 х Кронштейн
4)4 х Крюк

4

4

5)7 х Крюк
6)1 х Планка закладная

6

5

5

M8x20

M6x16

M6x16

M8x25

M6x25 M8x20
M6x25

M8x20

M8x20

M8x20

M8x20

M6x16

M8x20

M8x20

M8x20

5

M8x25


	Страница 1

